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Last time (2)

number of ways to get m things
in n trials : n choose m ( nm)
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Probabilities add up to I

prob of NH
in N trials

P( Na , N) = ( Nµ, / pN
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Average , Variance

{ Xi , ✗z , . . - He}

average ( mean)
sample

µ = In ¥? ✗ i not mean

( from data)
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Variance data
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Probability distribution

function P eg
Uniform

① I #Hit >_ 0 {
Pii)=£

② normalized ¥÷= I
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Sequence of things us
ensemble of things
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Catulus Quickening

① derivative is the slope of

a function at a point

ft rate of
Cheryl

② if d¥=o Max , min ,
saddle

[check 04/6×2 30 to



eg feel = E- ki
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③ Integral is area under

a curve
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Derivatives lose some info

fdf/d*d✗ = fcx) + c

⑨ Integral is like a sum
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has units
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Normal distribution
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